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1 Classic case of NN 9190 NNNIRY MTY

2 In the previous 8™ we had a 'nn between the x72vV> and >N as to the 29NN of
mpon by NvM Nw 2. Why would it be tempting to link this first Y90 of maoIin with
the »»nn? Can you think why although appealing it is not at all n75m to link the two.

3 This maon should put an end to connecting Mavn to the »dNn.
4 Important X993 necessary for going further in maomn.

5,6 1901 (5) here has a Mwp that makes certain assumptions about the X913 above (4).
What are the assumptions that he is making. How would you analyze the x7n (Xowp) and
MPON (X1 1N) in Moomn. Is the 87av» (6) saying the samething in his \y1n to the NwP?

7 maon here shifts out into a totally new 7o5nn that answers original question and avoids
the »owp from noINNN NWI. s this approach »on on »PxN NN and N7avV from
previous 8no? What would you say the 'nnn nmp) is between the two ©Xy 1PN of
mavn?

8 Is the x7avV» here citing a third approach or is it the same as one of the o>¥y 1 n of
mavn?



